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Year 7 — Algebraic Thinking
Algebraic Notation
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|1 Function: a relationship that instructs how to get from an nput to an output
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| do? . I| Input: the rumber/ symbol put into a function I
| By the end of thisunit you shouid be able 11 Oty the rumber/ expression that comes ot of a function |
| to :I Operation: & mathematical process |
| Be able to use inverse operations and II Inverse: the operation that undoes what was done. by the. previous operation (The opposite operation) |
| “operation familes” |I Commutative: the order of the operations do not matter |
: * Be dbe to substitute nto sngle and I Substitute: replace. one variable. with a number or new variable |
| E‘E?ﬁ{gt? m(e/cm:g - || Expression: a maths sentence with a minimum of two rumbers and at least one math operation (no equaks sign) :
| ° NG A7 ENPYESS || Evalvate: work out
|+ Form sequences from expressons || Linear: the diference between terms ncreases or decreases by the same vaue. each time {
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| Single. function machines | Using letters to represent numbers || Single function machines (aloebra) |
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| Find functions from expressions | : Substitution into expressions ” | Two step function machines |
: INPUT OuUTPUT {I 4y 4—— dutsof T :
| n —» 7| T [: lfg-?ﬁismstkne:rpresmsaslmgfoﬂ ” §_> — —>§ |
I | Tots of" 7 |
: Fd the relaionshi between the rput and the outpit {: ol s B v | 8 ” Cabdatmelibeattheem@%ratm :
Sometimes there can be a number of possibe functions! | or the oot ee the INVERSE
: eg *+7x or X & could both be soltions to the. dbove { | &5 y-4 “ WS i :
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: Substitution into an expression : : Representm functions @’GPI\IC&IH Not dl oyaphs wil be Inear only those with | |
Take the function and generate asequence. 2x + 3) an nteger vake for x |
Il 2+ 3) Put the expresson nto a function machne I Powers and fractions gererate dfferenty | |
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| (0dd 5 tothe rpu Fx- 10 | To represent graphicaly the nput becomes x co-ordnates 14 coes |
| \ thentmes 2 0+3-13... Bx2-26 and the. output becomes y co-ordnates 12 . |
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INPUT o araph you can predict |
The substitution & the ‘nput” valve >
: 0lﬂ'PUT| 8 | 10 | 12 | <—The OUTPl}IJ;;anms I;Pgﬂqieme: | This becomes a co-ordnate. pair 01 2 3 4656 7 other vabes I

(4, 10) to piot on & graph INPUT |



